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Solving Word Problems
Solve.

The mass of a dictionary (s 1 kg 250 g.

The mass of a box of paper s 2 kg 375 g. %"’a
Find the total mass of the two [tems.

The mass of a box of chocolates Is 948 g.
The mass of the empty box Is 159 g.

Find the mass of the chocolates. . o‘#’ﬁ

A baker has 20 kg of flour.

He uses some of It to bake a huge cake and has 3 kg of flour left.
Find the mass of flour used by the baker to bake the huge cake.
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Date:

Name: Class:

Worksheet 6

Solving Word Problems

Solve.

To bake each cupcake, 37 g of sugar and twice as much flour [s needed.
How much flour s needed to bake a cupcake?

Ravl and his mother have a total mass of 84 kg. o,
Ravi's mother Is 3 times as heavy as Ravl. A2 d

How heavy Is Ravl's mother? P ¥
S
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A bag of crisps welghs 7 times as much as a lolly.
The lolly welghs 23 g.
Find the total mass of 2 bags of crisps and 3 lollles.

The mass of a watermelon Is 654 g.
It is 3 times as heavy as an apple.
Find the total mass of the two fruits.
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